Rational and Irrational numbers

Solution

» MC Question

10. Answeris C

2Y5-5+2-y/5=4/5-3

11. AnswerisD
A 7T is not rational
B notarecurring decimal, so it is not rational
C V19+20 =39 , so it is irrational
D (4/5) +8=16x5+8 =88, soitis rational

12. Answeris D

Let x be 2.5
10x = 25.5555...
10x —x=25-2
Ox =23
23
9
Let y be 1.75

10y =17.5
100y = 175.5
100y — 10y = 175 — 17
90y =158
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> Short Question

1. Letxbe 4.3
10x =433
10x —x=433—43
9x = 39
_39_13
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L3213
S43= 3

2. (a) 275isa recurring decimal, so it is rational

(b) —275is an integer, so it is rational

(¢) % is a fraction, so it is rational

(d) V63 =V9x7 =37, s0itis irrational
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